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Filter:  nsip.nsei==1901 |Z| Expression.., Clear ZSpply

Mo, Tirme Source Destination Protocal  Length Info
12797 4,2967460010.10.173.203 10.155.69.131 GPRS-MS 60 SNS_SIZE, MSEI 1901, Reset
13047 14.054494010.10.173. 230 10.155.69.131 GPRS-MS 60 SNS_SIZE, MSEI 1901, Reset
13049 14.069514010.155.69.131 10.10.173.230 GPRS-MS B0 SNS_SIZE_ACK, NWSEI 1901
13050 14.071805010.10.173.229 10.155.69.131 GPRS-MS 330 SNS_COMFIG, NSEI 1501
13051 14.087126010.155.69.131 10.10.173.230 GPRS-N< B2 SNS_COMWFIG, WSEI 1901
13052 14.085513010.10.173. 230 10.155.69.131 GPRS-NE 60 SNS_COMFIG_ACK, NSEI 1501
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Filter: | nsip.nsei==1901 E| Expression... Clear  Apply
Mo, Time Source Destination Frotocol Length Info
25753 0.2982050010.10.173.207 10.155.69.131 GPRS-NZ a0 SNS_ADD, WSEI 1901, Transaction Id: 20

# Frame 25753: 60 bytes on wire (480 bits), 60 hytes captured (480 hits)
# Ethernet II, src: Ericsson_19:52:e5 (00:30:88:19:52:e5), Dst: Broadcast (Ff:ff:ff:ff:fF: )
®= Internet Protocol wversion 4, src: 10.10.173.207 (10.10.173.207), Dst: 10.155.69.131 (10.155.65.131)

® User Datagram Protocol, Sre pPort: dnp (200000, DSt Port: 6003 (6003)
= GPRS metwork service, PDU Type: SNS_ADD, NSEI 1901

PDU type SHs_apD (Oxd)

NSET : 1001

Transaction ID: 20
= List of IP4 Elements (1 Elements)
= IP Element: IP address: 10.10.173.215, UDP Port: 20000
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Filter: ' nsip.nsei==1901] IZIExpressiDn... Clear  Spply

Mo, Tirne Source Destination Protocol Length  Info

*EEINSVC CIERZ

Filter: | nsip.nsei==1901 |Z| Expression., Clear ZSpply
Mo, Tirne Source Destination Protocol Length  Info
745 0.2287940010.10.173.213 10.155.69.131 GPRS-NE 60 SWS_ADD, MSEI 1901, Transaction Id:

4 1

# Frame 745: 60 bytes on wire (480 bits), 60 bytes captured (480 bits)
# Ethernet II, Src: Ericsson_19:52:e5% (00:30:88:19:52:e5), Dst: Broadcast (ff:ff:ff:ff:Fff:ff)
# Imternet Protocol version 4, Src: 10.10.173.213 (10.10.173.2130), Dst: 10.155.69.131 (10.155.6%.131)
[ User Datagram Protocol, Src Port: dnp (200000, Dst Port: 6002 (6002)
= GPRS Metwork Service, PDU type: SNS_ADD, MSEI 1901

PDU type: SMNS_ADD (Oxd)

MSEI: 1901

Transaction I0: 19

= List of IP4 Elements {1 Elements)
= IP Element: IP address: 10.10.173.214, UDP Port: 20000
IF Address: 10.10.17 14 (10.10.173.214)

19

UDP PoOrt: 20000
signalling weight: 42
Data weight: 42
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show gprsns statis msg-stats nse xxxx

show gprsns statistics sns-msg-stats

show gprsns status nsvc-status-all verbose nse xXXXX

show gprsns status nsvc-status-all nse all

show gprsns status nsvc-status-all verbose nse xxxx facility linkmgr instance x
show npu stats debug all-pacs
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